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. Which of the following is not 1. fF ¥ ¥ T@IMANFRNN & dgc

substrate for gluconeogenesis ? B el § ?
(A) Lactate (A) EE
(B) Alanine (B) Tl
(C) Glycerol (€) feRwme
(D) Acetyl CoA (D) TRHfeat FTed T
2. The end product of glycolysis 2. IR TRl @f sfd & arf<m
under anaerobic condition is : Ide BT 2
(A) Lactic acid (A) fded 3T
(B) Pyruvic acid (B) trrgﬁﬁm =
(C) Acetoacetic acid ©) TR e
(D) All (D) TR T
3. Which one of the following is 3. 7= & q AFRIHES $F 8 7
monosaccharide ? (A) Heel
(A) Maltose (B) W
(B) Sucrose ©) -

(C) Fructose _
D) ST IS Tel
(D) None ) i

4. Enzymes concerned with the citric 4. IR R e s e R | e

acid cycle are found is the : UST8H Bl &
(A) Nucleus (A) Dsd

(B) Ribosomes (B) Igai=d
(C) Mitochondria (C) HrEeifgar
(D) E.R. (D) 3o 3Ro
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Gluconeogenesis occur in the liver
and which organ :

(A) Kidney

(B) Muscle

(C) Heart

(D) All

Glycogen synthesis is occur in :
(A) Heart

(B) Kidney

(C) Muscles

(D) All

Which of the following is a not a

polymer of glucose ?

e PRIRRR R ok TR F ST
S ECEE

©) feat

(D) Wi T4
TATgHoH RO Bl ¢

A) fed

(B) fdet

(C) e

(D) SWIa I
Ffad 9 | ®F 7@ 3 Uell R
Tl 7 ?

(A) Glycogen (A) TATSHIH
(B) Cellulose (B) ﬁﬂ?ﬁﬂ
(C) Amylase (C) THTEe
(D) Insulin (D) sgfor
How many molecules of ATP ‘?«Iﬁfﬁﬁﬁlﬂ ® SR To <o Yo D
synthesized during glycolysis ? febereT 319 T B © °
(A) 36 (A) 36
(B) 38 (B) 38
€) 2 €) 2
D) 4 D) 4
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0. In EMP pathway, the process by 9. 30 THo o Uid & fd ufsham & To
which ATP is formed : o Wo Merar 2
(A) Reduction (A)
(B) Oxidative phosphorylation (B) A N
(C) Substrate level
(C) ¥sdgc oldel BIhRIeRIA
phosphorylation _ _
(D) None of the above D) ST ¥ P Tl
10.  This enzyme catalyzed first step in 10. Jg UGRH So THo Uo Ud & Ugol
EMP pathway : ®eH BT YR BT ©
(A) Enolase (A) SRIEN]
(B) Kinase (B) T
(C) Hexokinase
(D) None of the above © L
(D) SWd ¥ | I8 el
11.  Which of the following is an 1. /9 # ¥ @9 J&RId @ Ie
example of bacterial & yeast UTlNISE & ISR 2
polysaccharides : (A) wrd
(A) Starch
(B) Glycogen ®)
(C) Cellulose © W\_ﬂ
(D) Dextran (D) SHIEH
12.  Polysaccharides which have same 12. dldNoNgs O WM UBR @
type of monosaccharides : HHIGMISG gl ®
(A) Glycogen (A) TATSHIOH
(B) Homoglycan (B) BMFTS®M
(C) Heteroglycan (C) fRfexr wersam
(D) Oligosaccharides (D) 3nferTRiaNTgS
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13.  Which of the following are the 13. {9 # ¥ B WoAIHd TINaRISS

structural polysaccharides ? g7

(A) Glycogen (A) TS DI

(B) Cellulose (B) ﬁﬂ?ﬁ\_ﬂ

(C) Chitin (C) rgfed

(D) Glucose (D) W
14.  Which of the following analogous 14, 49 o9 T & TN § ¢

to starch ? (A) Qﬁg(—vﬁa

(A) Cellulose (B) TSR

E]z; Slycogen ©) W

ucrose
(D) Chitin ©) @

15.  Which of the following is not a 15. 99 ® ¥ @8N U™ &E  dl

monosaccharide with 5 carbon HHIINES & ?
atoms ? (A) WA
(A) Arabinose

(B) ifzcello
(B) Xylulose

(C) fege
(C) Trehalose

D iﬂc_*l i
(D) Ribulose ®)

16. Celluloseis a: 16. ﬁﬂ?ﬁﬂ%
(A) Heteropolymer (A) fefeurei e
(B) Homo polymer (B) 2R
(C) Dimer

(C) SN
(D) Monomer
(D) AR
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17.  Inulin is a polymer of : 17. ﬁjl((\’ﬁ fh ] qgcfid g
(A) Glucose and fructose (A) @IS Td hacls
(B) Glucose (B) W
(C) Fructose (C) HaeTol
(D) Glucose and galactose (D) @I T oo
18. The  building  blocks of 18. UciNdNgs & <A W 2
polysaccharides are : (A) W qﬁ—d
(A) Glucose units (B) SRS
E]Zi f/[lsacchan;iesid ©) NN
onosaccharides .
(D) Carbon molecules ®) e
19. Product of Krebs cycle essential 19.  IMRIST BTRORIGRY & fordl AawId
for oxidative phosphorylation is : P9 °h Pl IC ©
(A) NADPH & ATP (A) NADPH & ATP
(B) Acetyl CoA (B) TRica PITAZH T
(C) COz2 and oxaloacetate (©) CO» T o o
(D) NADH & FADH>
(D) NADH & FADH,
20. Intermediate of Krebs’s cycle, is 20. 9 dh & HIdd] Bl SUART JHH!
utilized in the formation of amino- 3/l & o | fopar oar @
acids : (A) TRRF RS
(A) Citric acid ®) o oRrs
(B) Malic acid
(ORIEEIKINFEES
(C) Isocitric acid X ~
(D) a ketoglutaric acid (D) TPl PICTeeRa i
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21. The site of the electron transport  21.  gcldgH ;INNIC( %iﬂsicrll P 5T B
chain is : N
(A) Mitochondria (&)
(B) Outer mitochondrial (B) 9Nl Wigeianggd MR
membrane N
(C) Inner mitochondrial (© A P
membrane (D) ﬁf?;w
(D) Matrix
22.  Which of the following are 22. f39 ¥ ¥ ETC & SRM goldg™ <Idl
electron donors during ETC ? GGG
(A) NADH & FADH, (A) NADH & FADH,
(B) NADPH & FADH, (B) NADPH & FADH,
(C) ATP, NADH& FADH, (C) ATP, NADH& FADH,
(D) NADH & FMN (D) NADH & FMN
23.  The functions of electron transport 23, geldgI ;;INNIC( %itcml A n i
chain are : (A) W& ATP 5 &1
(A) Make no ATP directly (B) Ao | MRS ¥ goge uRd
(B) To pass e from food to N
e () T T T e B O i
(C) Breaks a large free energy
into a series of smaller steps @ W A e &
(D) All of the above (D) ST Tl
24.  During which mechanism 24, &9 @3 & <RM ACIIgdT ATP
mitochondria synthesized ATP : AT B
(A) Osmosis (A) THIRF
(B) Chemiosmosis (B) BERIRGIN
(C) Active transport (C) Ufeg MREI
(D) None (D) S Tot
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25.  Proteins molecule contain : 25. WM A B &
(A) Oxygen (A) 3MaIeH
(B) Carbon di oxide (B) T ST ATRITES
C) Nitrogen
©) g (©) TR
(D) Both (A)&(C) :
(D) T (A) 3R (C)
26. The simple protein or primary  26. WRIRY WM AT WRIHEG TRET B G
structure is made up of : RN
(A) Amino-acids (A) -3
(B) Glycoprotein (B) TAEH WS
(C) Globular protein (C) TAgeR T
(D) None (D) S 7
27. The amino-acids are linked 27. 3MMI-37 98 & WA IS ©
together with bond : (A) H:S W&
(A) HazS group (B) 3aTRe
(B) Elastin
(C) Ueige
(C) Peptide _ _
(D) SWIE ¥ IS T8l
(D) None of the above
28. The characteristics features of 28. UM & g I & faowan) @ :
secondary structure of protein : (A) COO~ T8
A) COO~grou
(A) Sroup (B) WX T8
(B) Ester bond
(C) TTESINH dFs
(C) Hydrogen bond
(D) SWIE ¥ ¥ Bs Tl
(D) None of the above
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29.  The proteins which are simple and ~ 29. W& T IR UG ﬂgﬁﬂﬁ Bl B
conjugated : (A) RIS
(A) Acidic (B) o=
(B) Derived
(C) NP
(C) Basic _ _
(D) None of the above ) SR A ¥ ol T
30. Enzymes are : 30. U9 g
(A) Proteins (A) U
(B) Carbohydrates (B) Eb‘l‘@ﬁ%]’sﬁaﬂ
(C) Nucleic acid (C) gfdetr TS
(D) DNA molecule (D) Slo To Vo 37
31. a-helixhas: 31. W%’%IW%
(A) 3.4 amino acid residue/turn (A) 3.4 M ol /TS
(B) 3.6 amino acid residue/turn (B) 3.6 3HIMI 3l /AIS
(C) 3.8 amino acid residue/turn (C) 3.8 3R /HS
(D) 3.0 amino acid residue/turn (D) 3.0 3FHI 3 /HIS
32.  Tertiary structure is maintained by: 32. (‘I:cﬂ?l‘cﬁ TGl BT IG—@d gRT fhar
(A) Peptide bond SN
(B) Hydrogen bond (A) afierss s
(C) Sulphide bond (B) FESIH dS
(D) All of the above (€) WewEs s
(D) SWIa I
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33.  Hemoglobin has : 33. AT ©
(A) Primary structure (A) WISH |Gl
(B) Secondary structure (B) fgdia® &
(C) Tertiary structure (C) oD WYl
(D) Quaternary structure (D) 5@21 TR
34.  The 3-D structure of protein canbe ~ 34.  3-D, ol W @ fuiRa @& o
determined by : Fhdl ¢
(A) NMR (A) NMR
(B) X-ray crystallography (B) X-ray crystallography
(C) Both (A) & (B) (C) M (A) IR (B)
(D) None of the above (D) SWIE H ¥ Pls Tl
35.  One gram of protein contain : 35. UM & US UM BT §
(A) 4.3 Kcal (A) 4.3 Kcal
(B) 4.2 Kcal (B) 4.2 Kcal
(C) 5.2 Kcal (C) 5.2 Kcal
(D) 5.4 Kcal (D) 5.4 Kcal
36.  In the hair, protein found is : 36. dell H UICH T i ©
(A) Elastin (A) SeliRed
(B) Myosin (B) HRIRM
(C) Keratin (C) fafes
(D) All of the above (D) SWRIad 4
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37. Peptide bond formed by enzyme 37. URES 9€ T~gH gRI §°4T © :
s (A) I TR
(A) Carbonic anhydrase ®) oo
(B) Catalase
(C) Peptidase (©) A
(D) Peptidyl transferase (D) Hficfeat R
38.  Which proteins are called transport ~ 38. 4= # &g U\ @ =AU OidM
proteins ? FEd ¢ ?
(A) Ovalbumin (A) mﬂ_ﬁlﬁﬁ
(B) Hemoglobin (B) SRR
(C) Keratin (©) fomfes
(D) Enzymes (D) ol
39. The number of amino-acids 39. BAR IRR H Gid oMMl ol @
synthesized in our body : T B
(A) 20 (A) 20
(B) 30 (B) 30
(€) 40 (C) 40
(D) 10 (D) 10
40.  Proteins are soluble in : 40. UM ‘rg?ﬁ“iﬁ?[ SR
(A) Benzene (A) I H
(B) H»0 (B) H.0 #
(C) Aqueous alcohol (C) STl Yedlere
(D) Acetone (D) TR
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41.  Which one of the following back  41. fy=foRed & @9 @1 ANF T 3R
bone of fats and oils ? ol BT Shd g1 & 7
(A) Glycerol NGRS
(B) Glucose (B) W
(C) Palmitic acid
(C) uferfes T
(D) All of the above
(D) SRia T
42.  Which one of the following not 42. =1 ¥ 9 ®F R0 U0 To CRCRIRIp|
found in RNA ? I © ?
(A) Uracil (A) 2}? el
(B) Guanine (B) MM
(C) Thymine (C) I
(D) None of the above (D) SR Pls Tal
43.  Which of the following amino- 43. 9= # & fog A RIS @ 3
acids unlikely found in alpha- 2folad # U O @GR T8l & ?
helix? (A) AR
(A) Methionine (B) e
B) Arginine
E C; o (©) e
roline
(D) All of the above (D) SR
44.  Both DAN and RNA can form in: 44. Slo THo To 3R 3o Uqo To M A
(A) Double helix e
(B) Triple helix (A) ST Sferm
(C) Both (A)&(B) (B) T
0 :
(C) T (A) 3R (B)
(D) None (D) o B
45. A beta barrel is an example of : 45. 9T Rl AT BT ISR §
(A) Primary structure (A) W HGT
(B) Secondary structure (B) AP G
(C) Tertiary structure (C) R e
D) All of the above
) Y (D) SR
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46. A polypeptide containing S-S bond ~ 46. TE Ghlzs S g BIGIIESS
rich in which of the amino acids ? fFrfefed & & fod ol s @
(A) Proline Wi & 1 AT §
(B) Arginine ) A
(B) 3
(C) Cysteine ©) R
(D) None of the above (D) IR § 9 Bls T8
47.  The degree of unsaturation of lipid ~ 47. fafus @1 eﬁ?ﬁw o f$f @1 A o
can be measured as : FhaT B
(A) Saponification number (A) FUBHIA o
(B) Iodine number (B) IRIEH o
(C) Polenske number (C) UiRaT o
(D) All of the above (D) SWIF
48.  Which of the following is an 48. {9 ¥ fevrges forfis &1 SeEeor & ?
example of derived lipid ? A) Rexre
(A) Steroides (B) exiA
(B) Terpenes ©) ﬁﬁﬂw
C) Cerotenoides
ED; All of these (D) ST
49.  Naturally occurring fats are : 49. Eﬂ?ﬁl‘cﬁ a B
(A) L types (A) Telo €TE
(B) D types (B) Slo TR
(C) An equi-molur mixture of L (C) Tdo 3R Slo & YBR &I fayeirg
& D types fHs1or
(D) None (D) ®g Tel
50. Carnauba wax is an example for : 50.  HMET 999 U SSE B
(A) Liquid wax A) fafdas da
(B) Soft wax (B) W¥C da¥
(C) Hard wax (C) TS da™
(D) None of the above (D) SWRITd H F Ig Tl
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51.  Dietary fats are transported as : 51. QMER & ®Y ¥ of WM drell a1 B :
(A) Chylomicrons (A) TZAMEH
(B) Liposomes (B) <ITSUNIM
(C) Lipid globules ©) fafte RPN
(D) All of the above (D) IR T
52.  Beta-oxidation of fatty acids takes 52.  dicr-3naiisyd BT §
place at : (A) TRATTRNET
(A) Peroxisomes (B) NI
(B) Mitochondria
(C) FISTIBIgaT IR TRRATRINA
(C) Mitochondria & Peroxisomes
(D) E.R. (D) %o 3o
53. Molecules act as chaperons to 53. 7 N BifeeT # anfdas dwIA @l
assist the folding of protein : TRE BRI R B -
(A) Vitamins (A) e
(B) Carbohydrate (B) ®EEESC
(C) Amides (C) UHIgs™d
(D) Lipid (D) forfUs
54.  Which of these is not a lipid ? 54. T A N A1 fafie T8 §
(A) Fats (A) a9
(B) Oils (B) dod
(C) Proteins (©) e
(D) Waxes D) S
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55. A nucleoside is composed of : 55. & reii?mulwss PR §T B
(A) A base & a sugar (A) Ud 99 3IR UM
(B) Only base (B) ®dd ¥4
(C) Only Sugar ©) Bl R
(D) None of the above (D) SWREd H $Ig Tel
56.  Genetics mutation occurs in : 56. uHfed P@‘QFI HEIRE
(A) Protein (A) e
(B) RNA (B) 3Ro THo Vo H
(C) DNA (C) <o THo To ¥
(D) Nucleus (D) T |
57. DNA is present in : 57. $lo Tdo To IURIT HIE
(A) Nucleus & mitochondria (A) W 3R HgeIBIgar
(B) Nucleus, mitochondria & ER (B) W E AR o
3Ro
(C) Ribosomes
(C) rEaE
(D) All of the above D) SR T
58.  Two strands of DNA double helix 58. Slo THdo Vo ©9c] Bfoldd & gl ?ﬁ@'
is joined by : \_{ﬁ B T
(A) Co-valent bond (A) Plder< 08
(B) Hydrogen bond (B) EESINH 418
(C) Ionic bond (C) Irafid qvs
(D) Phosphodiester bond (D) PTEPISTIRCR dT7S
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59.  Chromatin is composed of : 59.  pHfed Mamx 991 BT §
(A) Nucleic acid & protein (A) fdard TRTE IR Ui
(B) Nucleic acid only (B) fderd TRIE daat
(C) Proteins only (C) WA Bad
(D) None of these (D) T4 A ®Ig 78l
60. The length of one ten of DNAis:  60.  Slo o To &I U < &I =TS Bl &
(A) 3.4A (A) 34A
(B) 34 A (B) 34 A
(C) 20A (C) 20A
(D) None of the above (D) SR ¥ P T
61.  The type of sugar in DNA are : 61.  Slo To Yo # U WM dTell YR 2 :
(A) Triose (A) TN
(B) Tetrose (B) <g™
(C) Pentose (C) U<
(D) Hexose (D) i
62.  The width of DNA molecule is : 62.  Slo To To T I AR B &
(A) 15A (A) 15A
(B) 34A (B) 3.4A
(C) 20A (C) 20A
(D) 25 A (D) 25A
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63.  Left handed DNA is : 63. 91 BT & o THo Yo & :
(A) A-DNA (A) T —<lo To To
(B) B-DNA (B) @ —Slo To To
(C) Z-DNA (C) TS —Slo To To
(D) C-DNA (D) ¥ —Slo To To
64. Z-DNA havea: 64. TS —Slo To To BT ¥ :
(A) Double helical nature (A) 9 Bferdd q@%{ G2l
(B) Zig-zag appearance (B) o= fewrge
(C) Uracil base ©) W 5
(D) Single stranded nature (D) RiTel TR TR
65. The information for protein  65. UG TN & WHGR TUfRd 8Nl &
synthesis is stored in : (A) 3T e
(A) Amino-acids (B) a9
o o
ucose
(D) Nucleic acid ) W R
66. How many nucleotide bases occur  66. ?{ﬁﬂ‘cﬁ RIS § fo reii?muldss CR
in nucleic acid ? R
(A) Five (A) U@
(B) Four (B) TR
(C) Infinite (C) ard
(D) None of the above D) SR ¥ P T
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67. Which pyrimidine base contains an ~ 67. fbd TERASH 39 ¥ @E IR R 6
amino-group at carbon ? 3MHl g BT § °
(A) Cytosine (A) WgeRIA
(B) Thymine (B) TIHI
(C) Uracil (®) qﬁﬁﬂ
(D) Adenine (D) TSFH
68.  Purine base of nucleic acid is : 68. ?{ﬁﬂ‘cﬁ Rre | W CR i
(A) Cytosine (A) TrIerd =
(B) Thymine (B) TIHI
(C) Uracil (C) T
(D) Adenine (D) TSFH
69.  Uridine present in RNA is : 69. RNA # Suferfd ?Iﬁiﬂ_rf g
(A) Nucleotides (A) fFRcESd
(B) Pyrimidine (B) UWERFEH
(C) Purine (C) =
(D) Nucleoside (D) YRS
70. ATPisa: 70.  To Tlo o 7 :
(A) Nucleoside (A) qﬁﬂ?ﬂﬂ@
(B) Nucleotide (B) QI@FR?I‘C’IEE
(C) Vitamin (C) fdaifa=
(D) Nucleic acid (D) ket TS
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71.  The coenzyme is : 71.  BIVAREY § :
(A) Often a metal ( A) RN Th gﬂq
(B) Always a protein (B) ST e A
C) Often a vitamin
© (C) IJRR Th fderfvd
(D) Always an inorganic
(D) TR U T AN
compound
72.  An enzyme that joins the ends of  72. U® UWEH o rq\l(?mq? 3Rl @ < G
two strand of nucleic acid is : o RRI ®I SredT §
(A) Polymerase (A) TrlFRG
(B) Ligase (B) <flRv
(C) Synthetase (©) fRferca
(D) Helicase (D) e
73. The combination of apoenzyme  73. UUUGISH Ud HIUGTgH Bl GANA ¢ :
and coenzyme : (A) HRINSIE
(A) Holoenzyme :
(B) TWilgH AsAgC Pl
(B) Enzyme substrate complex
(C) TR I
(C) Prosthetic group
(D) All of the above (D) SR T
74.  Zymogen or proenzyme is a : 74. sFi S AT W0 gHd Udh g
(A) Modulator (A) W
(B) Vitamin (B) R
(C) Enzyme precursor (C) Togd SmIgd
(D) Hormone D) <
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75.  Enzymes are polymers of : 75.  UGlgH CRINEY Bl B
(A) Hexose sugar (A) BRI RN
(B) Amino-acids (B) 3FHI o
(C) Fatty acids (C) IR AT
(D) In-organic phosphate (D) HEMH BRme
76. The enzyme which hydrolyses  76. T/ Bl Wicelol H BIgSIcgS HR dTcl
starch to maltose is : ToTTgH ¢
(A) Protease (A) TfeTst
(B) Amylase (B) UHISe
(C) Lactase (C) oIS
(D) Maltase (D) ATl
77.  This enzyme was first isolated and 77. 39 UIEH B U foed & w9 H
purified in the form of crystals : 3T 3R g fhar T o
(A) Urease (A) I
(B) Pepsin (B) Uit
(C) Amylase (C) THS oo
(D) Ribonuclease (D) ?Eﬂﬁ?{ﬁﬂ?ﬁ\_ﬂ
78.  Koshland proposed which model : 78.  PIYcS | DY W1 ASd YRafad f
(A) Fluid mosaic model (A) YIS ARl Hisd
(B) Induced fit model (B) URd fibe HAfed
(C) Lock &Key model (C) dTeT 3R T Afed
(D) None of the above (D) SR H ¥ Pls Tl
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79. m-RNA synthesize in : 79.  m-RNA RigMES 8 2
(A) Cytoplasm (A) AT IATH
(B) Mitochondria (B) AEeIaT=gdl
(C) Nucleus (C) T=d
(D) None of the above (D) SWRITd H F I3 T8l
80. t-RNA means : 80. t-RNA &I Accd &l @
(A) Transport RNA (A) STRAUIE 3fRo To To
(B) Tetra RNA (B) <gT 3Ro To To
(C) Target RNA (C) TRIE 3MRo THo Vo
(D) Transfer RNA (D) SM®HX 3Ro To To
81. The rate determining michaclis- 81. Wgdfo—Hed dgded §
menten kinetics 1s : ST W T
(A) The complex dissociation (A) R SAE & ST & &
step to produce products forRl Sifeet TRIgaRTT HeH
(B) The complex formation step (B) Wifcel Teq BaH
(C) The product formation step (C) Sl femoT ZRoT
(D) None of the above (D) SWRIT H ¥ BIg Tal
82. Which of the following is an  82. 4= # ¥ &9 Ufdd] JREG 2
example of reversible inhibitor ? (A) SEfeHRE
(A) Discelfiran (B) RGN
(B) Oseltamiver © Mevs g
(C) Protease inhibitor
(D) Slo g0 Yo Tho
(D) DIPF
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83.  What is enzyme kinetics ? 83. TUWEH Blgfcdd &7 & :
(A) Study of [S] (A) [S] T 3egg+d
(B) Study of rate reaction (B) fohar & R &1 3ruyd
(C) Study of initial velocity (C) URMNE T T a4
(D) All of the above (D) IR T
84. In how many forms, enzymes 84. TUGISH & fharai ¥ UorgH b w1 H
exists in an enzymatic reaction: fiyerar & :
(A) 2 (A) 2
B) 3 (B) 3
© 1 (C) 1
(D) 4 (D) 4
85. The turnover number is also 85. T 3R o B I Bl Il &
k :
nown as A) K,
(A) K
" (B) Kear
(B) Keat © K
(©) Keam o
D) K
(D) Kcad ( ) cad
86. The plot commonly used for 86. T Sl AMNIG: Vinax @ aﬁl @I Tl
determining the value of V,,, 4 is : ST H FART foa ST 2
(A) Line weaver Burk Plot (A) oF AR 6 e
(B) Langmuir Plot (B) W e
(C) Eadie Hofstee Plot (C) TSI BN e
(D) All of these (D) SWEd 4l
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87.  Molecule which lower the enzyme 87. H]?vﬂ‘cﬂl?[ S UWT8H @ dcfdlfcd X @l
catalytic rate is called : H¥ Tl &, Ped © -
(A) Regulator (A) W
(B) Repressor (B) Rorer
(C) Inhibitor (C) FlRfdex
(D) Moderator (D) ATV
88.  RNA in hydrolysis does not yield : 88.  3Ro To To BIZSIINN ¥ oI &l &
(A) Amino-acids (A) M 3
(B) Pentose sugar (B) U2 IR
(C) Nitrogen base © LIRS
(D) Phosphoric acid (D) BRSNS RS
89. Which of the following base 89. 4= # % fooe 2 DI NbE g
contain 2 Keto group ? (A) U&=
(A) Adenine (B) MM
(B) Guanine © T
(C) Thymine
(D) Cytosine (D) HECI¥
90. Which of the following statement ~ 90. 4% H & &9 41 $U Fel ¢
is correct ? (A) T IRAeH 2
(A) Adenine is pyrimidine B) o THo To iR ¥
(B) DNA is made up of Amino- o &
acids _
(C) RS & U BRORY el
(C) Nucleoside do not contain
phosphorus I §
(D) All of the above (D) SR T
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91. Identify the complementary strand ~ 91. ATGATC @& @HFIeiWgl e  Udl
of ATGATC : IR
(A) ATGACC (A) ATGACC
(B) TACTAG (B) TACTAG
(C) TTAGTC (C) TTAGTC
(D) None of the above (D) SWRIGT DIy Tal
92.  Anticodon present in : 92. Qﬂa‘cﬁ@ﬂ SUReId BT ®
(A) DNA (A) DNA
(B) mRNA (B) mRNA
(C) r-RNA (C) r-RNA
(D) t-RNA (D) t-RNA
93. Name the RNA which is used to 93. 39 3MNo Tqo To ® IR H 99 o
carry the genetic information SHfcd qa & Ufed dRal § o™
copied from DNA : o THo To ¥ fierar 2 :
(A) r-RNA (A) r-RNA
(B) m-RNA (B) m-RNA
(C) t-RNA (C) t-RNA
(D) Sn RNA (D) SnRNA
94.  Process which leads to synthesis of 94, fafer o™ 3o Tqo To HIIfd I 8
RNA is called : HEd T
(A) Termination (A) ALENE|
(B) Transcription (B) TrAlh®H
(C) Replication (C) Nwlid3e
(D) None of the above (D) SWIE ¥ Pls el
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95.  Histones are : 95. feweM z:
(A) Neutral (A) g
(B) Positively charged (B) TuIifcaet 4 S
(C) Negatively charged (C) frIfcaen = S
(D) All of the above (D) SWIa I
96. How many base will presentinone ~ 96. DNA @ U® & H 9% IURT 8 8 :
turn of DNA : (A) 4
(A) 4 (B) 5
(B) 5 ©) 10
(©) 10 D) 2
D) 2
97.  Which of the following binds the ~ 97. 4% # ¥ B m-RNA & Jzaeg I
m-RNA to the ribosomes ? e &
(A) t-RNA (A) t-RNA
(B) Nucleus (B) @=d
(C) m- RNA itself (C) m-RNA g
(D) None of the above D) SR ¥ P T
98. How many bases are present in per  98. Z-DNA T TH i W fhad 99
turn of Z-DNA? SuRerd B ¢ :
(A) 10 (A) 10
B) 8 (B) 8
© 1 ©) 11
(D) 12 D) 12
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99.  Among all the heat shock proteins ~ 99. 37 Wl § @9 A1 8 IMF WH o
which one is known as AW &) aE T S ©
chaperonins :

(A) Hsp70
(A) Hsp70

(B) Hsp32
(B) Hsp32
(C) Hsp60 (C) Hsp60
(D) Hsp30 (D) Hsp30

100. An average protein will not be 100. UH 3ffd UM o ﬁW Tal - faar
denatured by : STRATT
(A) SDS (A) SDS
(B) Heating to 90°C (B) 90°C d& Tl-f[ DT
(C) TAA (©) 1AA
(D) pHI10 (D) pHI0

Xhkdkhx
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO
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the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
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options and only one of them is correct. The answer which seems
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pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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